(Role )
Judge –  I will listen to both sides and give you a result. 
Whatever the reason is, crime will be the crime. 
Patrick (an accused) – Lisa has been irritating me ever since I was very young. This time, she tried to kill my dog, so I hit Lisa to protect my dog. If she didn’t try to kill my dog, I would’ve never hurt her. 
Patrick’s attorney- Patrick’s actions can be easily viewed as an act of self-defense. 
Lisa (an accuser) – I never attempted to kill his dog. How could I kill my best’s friend’s dog? I’m not the type of person who would do such things. It was just for fun. How could he hit me because of a joke?
Lisa’s attorney - Patrick is guilty. What he has done was not in self defense. Lisa wasn’t trying to kill Patrick or his dog. Because of his violent reaction, Lisa suffered broken teeth. Therefore, Patrick is guilty. 
Jury 1 - Lisa was irritating Patrick and it became the cause of this problem. It seems obvious that she lost her teeth. So, Patrick doesn’t need to go jail.
Jury 2 - Although Patrick was irritated, physical violence should not be tolerated. Patrick has to go jail.
Jury 3  - Both of them are guilty. If Lisa goes to jail, Patrick will also go to jail. Also, if Lisa is free of charge, so is Patrick.
*Accuse -to charge with a fault ; to blame ( The accused, an accuser )

*Jury - a group of persons who will say their opinion about the case after hearing the statements from the accused and accuser. They have no relationship with that case.
